


Quote// LluTaTa

The only man who makes no mistakes is the man who
never does anything. Do not be afraid to make mistakes!

/| EAMHCTBEHHBLIN YerioBeK, KOTOPbIN He AefnaeT OLnNOOK,
3TO TOT, KTO HUKOrga Hm4yero He genaet. He bouTechb
aenaTtb owunoku!

Theodore Roosevelt



]

B TeTpaan HadepTuTe TpaekTopUo ABUMXKEHUS XKy4Ka

(CTpenka cMeLllaeT Ha oOHYy KNeTKy)

Il el Rk |



TpaccupoBKa anropuTma - 9T0 MeTo4 Py4YHOro
MOOEenNMpoBaHNA BbIMOSIHEHUSA KOAa, NO3BONAKOLNNA BPYYHYIO
NPOBEPUTb NPaBUNBLHOCTb Ero PaboTbl Nepen KOMMNUMALMEN.
OH TakXe U3BECTEH Kak "npoBepka perncrpaummn.”

OawuH War: KonnyecTtBo Ka)xaoro UCrofiHAeEMOro orneparopa B
BalLlleM nceBOoKode UMM NCXOOHbIU Kof,.



Let's repeat what we learned
[loBTOpPUM

Beon OObOpaboTka

RuoipAn



Kakas nepeMeHHasas X uUnu
a

Ansa BBOAA Lernoro yucna?
x = input ('Enter the data’)

a = int (input ( '‘Enter the data’)

OTBe .
T:



BBoa HECKOINBbKUX

qyucen
k, n = map(int,input () .split())

print ( n// k )
Output:
print ((n % k )

Ne k n BbiBog
1 2 7/
2 2 7/ 3
3 2 7/ 1




TRACING AN ALGORITHM

TpaccupoBKa
anroputTmMa



bug - Kkate - ownbka 8 Kaae

debugging - Ty3eTy - UCNpaBneHue, yny4ywexHue



Hantu cymmy 5 YeTHbIX YMucern, Ha4MHasa ¢ Yucna a.



Hautu CYMMY S 4YeTHbIX Yucern, Ha4MHasa ¢ Yucna a.
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([ End )




Hantu cymmy 5 4eTHbIX Yucen, Ha4MHaaA ¢ YMucna a.

TpaccupoBKa anroputmMa, npu a=2

( St?f‘t ) Ne S a BbiBoa
S= O 0 S
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Hautu CYMMY S 4YeTHbIX Yucern, Ha4MHasa ¢ Yucna a.

S=S+3

||_a=:a+2

St?rt )
S=10 s=0
a y a=int(input("Enter a"))
5 4 foriinrange(d):
s=s+a
> 'S - a=a+2
I ' print("s=",s)
([ End )




3. PaccmoTpuTe Briok-cxemy 1 3anonHmuTe TpacCUpoBOYHYIO Tabnuuy.

[ Hauano

~

|

3agaHue

HeT

[ KoHeu

N~/
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k=k+1
sum=k+m
m=m-2

|

Sum

10




Eye exercises




JomaluHasa paboTa

1. Yumamsb y4yebHukK § 4.8

2. Cocmasumeb b6r10K-cxemy, mpaccupo80YHYIO
mabnuuy u rpozpammy 8 Python.

baHKky TpebyeTcsa coobLmnTb BKNagy4nky cymmy
HakonneHusa 3a 3 roga, ecnu Bknag 200 000 TeHre u
npoueHT goxoaa 10% B roa.



3. lcnpasbme anaopumm osuxxeHuss Poboma om 38e3004Ku
K Pombuky. Ucnonb3yume CKU (3 komaHObI) 8 mabrnuue.

' Activity 2
Q Three types of buttons control the R2D2:

}rfg—ﬂobot turns left

~ 1| | robot turns right

}____1
X robot moves X units in
o>

| |the direction it is facing

The R2D2 starts at blue star facing to east.

Zhanibek presses 7 buttons (as shown on the picture] to
move the R2DZ to the red diamond on the map.
Unfortunately, he has pressed two buttons by mistake.
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Which two buttons were a mistake?
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Y10 BamMm nNoHpaBUIoChb?
YTO HOBOro 3aNOMHUNKN?
YTO Y Bac nony4ymnocb?
YTo He nony4yunocb?
YTo XoTenu Obl y3HaTb?



